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JUNIOR CLERK (BS-11), PUNJAB POLICE DEPARTMENT - 2022

1. Rameez Raja is the

Chairman of the
« Pakistan Cricket Board:

(A) 35" (B) 36™
(C) 37" (D) None of these
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- (C) Astronaut
12.

What is the total area of Pakistan in square

kilometers:

A) 796096 km? gB; 881,913 km?
{C 695095 km? D) None of these
How many district in Ladakh:

A) 01 (B) 02 |

?c) 03 (D) None of these
Which continent has no desert:

(A) Asia (B) Australia

(C) Europe (D) None of these

Chemical formula of washing soda is:
(A) Na;CO: (B) NaHCO;
(C) Na;S0s.10H20 (D) None of these

When did Sir Syed Ahmad Khan died:

(A) 11 January 1898
(B) 27 March 1898
c) 02 September 1898

ED} None of these

Muslim League was founded on
by Nawab Salim Ullah Khan

Bangladesh.
1Y () Dec. 30, 1906

(A) Dec. 30, 1907
(C) Dec. 25 1906 (D) None of these

Which mountain range is located in the south

of Pakistan
(A) Koh-e-Suleiman (B) Karakoram

in Dhaka,

(C) Kirthar (D) None of these
Warsak dam is situated on river
(A) Kabul (B) Indus
(C) Swat (D) None of these

Pakistan national poet Allama Iqbal died in:
(A) 21 May 1938

(B) 21 April 1938

(C) 21 September 1938

(D) None of these

Sanaa Marrin of Finland is famous

(A) Nuclear Scientist

(B) Youngest political leader
(D) None of these

How many time Squash ball jump in each shot
(A) One (B) Two

(C) Three (D) None of these

In which city School of Public Policy located:

(A) Islamabad (B) Lahore
(C) Peshawar (D) None of these

Which is the first gulf nation to complete FATF
condijtions:

(A) UAE (B) Bahrain

(C) Saudi Arabia (D) None of these

Who is the current chairman of NCOC:

(A) Shafqat Mahmood  (B) Asad Umar
(C) Sheikh Rasheed - (D) None of these

When Shalimar garden established:

(A) 1642 (B) 1672
(C) 1700 (D) None of these

What is the longest glacier in the Karakoram
and second-longest in the world's non-polar

dreas:
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EA% Hispar Glacier EB Siachen Glacier
C) Biafo Glacier D% None of these

Ghazi brotha dam in attock, Punjab, is located
on river ' :

(A) Dasht (B) Kabul
(C) Indus (D) None of these
2022 FIFA world cup will held in

(A) Qatar (B) Russia

(C) UAE (D) None of these

Which resources are non-renewable:

5!“*) Geo thermal (B) Fossil fuels
C) Solar (D) None of these

Pakistan-China meets with which pass.

(A) Khunjrab (B) Khyber
(C) Tochi (D) ‘None of these
Khyber is a :

(A) Largest stadium

(B) Famous building
(C) Pass (D) None of these

Pakistan is located in which continent:
(A) Europe (B) Asia |
(C) Australia - (D) None of these

What does IWMI stand for .
(A) International Water Management Institute

(B) International Waste Management Institute
(C) Irrigation Water Management Institute

(D) None of these

International Children's Day is observed on:

(A) 14 February (B) 20 November
(C) 18 December (D) None of these

Rann of Kutch is a disputed area between
(A) KPK-India (B) Sindh-India
(C) Punjab-India (D) None of these

The Length of Pakistan and Afghanistan

border Is
(A) 2252 KM (B) 2430 KM
(C) 2052 KM (D) None of these

The International Monetary Fund'(IMF) was
established by an international treaty in ___

(A) 1942 (B) 1944
(C) 1945 (D) None of these

Who is the Current Chairman Joint Chiefs of
Staff Committee (CJCSC), Pakistan.
(A) General Rashad Mahmood

(B) General Nadeem Raza
(C) General Zubair Hayat (D) None of these

Who was the 16" President of US:
(A) John F Kennedy (B) Henry Truman
(C) Abraham Lincoln (D) None of these

The Capital of Srilanka is:

(A) Colombo (B) Jaffna
(C) Kandy (D) None of these

Who is the Current .Prime Minister of AZAD
JAMMU AND KASHMIR:

(A) Sardar Attique Ahmed Khan

(B) Sardar Abdul Qayyum Khan Niazi

(C) Raja Farooq Haider (D) None of these
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rakistan China border agreement was signed
n

A) 1963 (B) 1956

C) 1965 (D) None of these

. Indus Basin treaty of 1960 between Pakistan

and India is related to
(A) Border Water
(C) Refuges (D) None of these

Which was the first country to recognize
Pakistan an independent state:

(A) lran (B) Iraq

(C) Indonesia (D) None of these

problem.
(B)

How many times did Mahmud of Ghazni
invade India?

(A) 05 (B) 15

(C) 17 (D) None of these
Thal desert is located in '

A) Gilgit B) Punjab

C) KPK D) None of these
Sindh was conquered by Mohammad bin
Qasim in:

(A) 710 AD (B) 711 AD

(C) 712 AD (D) None of these
Pakistan purchased Gwadar from

(A) Oman (B) Iran

(C) Kuwait (D) None of these

For how much rupees Ranjit Singh sold the
Kashmir: N

(A) 6.5 million (B) 7.5 million

(C) 8.5 million (D) None of these

The most populous continent is:

(A) Africa (B) Europe

(C) Asia (D) None of these
Hemodialysis cleans

(A) Veins (B) Blood

(C) Nerves (D) None of these
The largest Island of Pakistan is:

(A) Astola {B{ Manora

(C) Charna (D) None of these

When Economic Cooperation Organization
established:

(A) 1964 (B) 1985

(C) 1892 (D) None of these

If batsman is out of the crease and wicket
keeper hits the wicket this wicket is called:

(A) LBW (B) Hit wicket

(C) Stump (D) None of these

The land lying between the river Ravi and

river Chenab is called
(B) Chaj Doab

(A) Rachna Doab
(C) Bari Doab (D) None of these

When was Liaqual Nehru Pact between India
and Pakistan signed:
B) 1955

}A 1950
C) 1964 D) None of these

Syed Ahmad Shaheed started the Jihad
movement against
(A) Deen-e-llahi (B) Sikh Rulers
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(C) Hindus (D) None of these

Which mushroom is not edible:

A) Amanita Phalloides ’

B) Oyster Mushrooms

(C) Straw Mushrooms (D) None of these

Kidney stones is caused due to
(A) Sulfur dioxide (B) Calcium Oxalate
(C) Aluminum oxide (D) None of these

Cabinet Mission Plan was announced in the

) 1945 (B) February 1946

(A) February
(C) February 1947 (D) None of these

Loud speaker voice is increase due to

(A) High Energy -
(B) High Frequency

(C) Spectrum technology (D) None of these

Cooking gas is also called:
(A) Butane (B) Hexane
(C) Propane (D) None of these

When Mughal king Humayun recaptured Delhi
darbar:

(A) 1550 (B) 1555

(C) 1660 (D) None of these

The escape of water molecules from surface
s called _

(A) Sublimation (B) Evaporation

(C) Condensation (D) None of these

Who started the Faraizi Movement?
(A) Haji Shariat Ullah

(B) Allama Muhammad Igbal

(C) Maulana Muhammad Ali Jauhar
(D) None of these

The luminous body emits

A) Light (B) Energy

C) Waves (D) None of these
Nitrogenous wastes excreted through urine in
humans is:

(A) Ammonia B) Uric Acid

(C) Urea D) None of these
World War | started in which year

(A) 1913 (B) 1914

(C) 1915 (D) None of these

Choose the antonym Deny
?\] Acknowledge (B) Veto
C) Repudiate (D) None of these

Choose the antonym Detest

(A{ Loathe (B) Love

(C) Abominate (D) None of these
| wish my father alive today.

zAJ was (B) were

C) is (D) None of these

Poke one's nose into means
(A) to praise someone

iE to get involved in

C) to be rude

(D) None of these

What is 'Subway'?
(A) Aroad or path ralsed above ground level
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(B§ Short passage to any place

(C) Underground passage
(D) None of these
junction joins
Eb.nn”lj‘wu Clajuses Two Sentences
{C; Two Phases D) None of these
‘e useless to cry over
Ha.l}s i;utmﬂk (B) split milk
(C) served milk (D) None of these
cry wolf
E) It-;"::lisme.*n eagerly (B) to turn pale

(C) to give false alarm - (D) None of these

dd fuel to the fire
ﬁ;b. calm down EB;
(C) aggravate trouble (D

Amina IS afraid___ spiders.

create problem
None of these

(B) of
Eéi ;gr (D) None of these
My brother and friend _____ me in my studies.
(A) Helps (B) Helped
(C) Help (D) None of these

Choose the option that correctly transforms
the given sentence into reported speech:

The student said, "Sir, | am not guilty"”.

(A) The student said with respect that he was
not quilty

(B) The student pleaded that he was not

uilt

(C) %‘heystudent pleaded with respect that he
was not guilty

(D) None of these

According to a time table a coach was due to
leave a station at 22:55 and arrive at its
destination at 06:05 the next day find the time
taken for the journey:

(A) 7 hours 10 minutes

(B) 6 hours 30 minutes

(C) Shours 10 minutes (D) None of these

If 54 is subtracted from three times a certain
number the result is 36, Find the number.

(A) 20 (B) 25
(C) 30 (D) None of these
g
) 2/3 (B) 372
(C) 173 (D) None of these

Af batsman in his 12th innings makes a score
of 80 runs and there by increases his average
score b; 3. What is his average after the 12th

i&r;lngs

45 (B) 46

(C) 47 (D) None of these

32% of 700 =
550 (B) 560

éc; 565 (D) None of these
50 (B) 100

EC) 75 (D) None of these

CTRL+S is used for
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A) Save as B) Save
ic; R:vise iDg None of these
' is which type of device:
LA & Lﬁ;uTw id %B) Internal device
%C Input optical device D) None of these

(B) Constitutional law

You can use the fTrTat painter multiple times
before you turn it © _
{:]u‘?ﬂ{l can use thg format painter button
only one time when you click it
B) Double clicking the format painter button
503 Pressing the Ctrl key and clicking the
format painter button
(D) None of these
In MS excel which bar is used for formula and -
data writing:
A) Formuls bar iE] Menu bar
C) Title bar D) None of these
The Physical part of computer is called:
A) Snéwara B) Hardware
C) Firmware D) None of these
The brain of computer is called:
(A) Motherboard (B) CPU
(C) Microprocessor (D) None of these
Qazaf ia
(A) Clause in Islam
(C) Shariat Law (D) None of these
The tax collected from prisoner is called
(A) Fidiya B) Jiziya
(C) Ashar (D) None of these
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Answer Key '
1. B 4. C . 27 B 40. B 53 C 66. B 79. C 92. C
2. B 5. B 28 C 41 C 54 B 67. C 80. B 93. B
3 B 16. A 29. B 42. B 55. B 68. C 81. A 94. A
4. C 17 B 30. C 43 A 56. A 69. B 82. B 95. B
5. A 18. C 31 A 44. B 57. A 70. A 83. B 96. C
6. B 19. A 32. B 45. C 58 C 7. © 84. A 97. A
7. B 20. B 33. A 46. A 59. B 72. A 85. B 98. B
8 C 21 A 34. B 7. A 60. A 73. C 86. A 99, B
9. A 2. C 35 A 48. B 61. B 74. B 87. B 100. A
0. B 23 B 3 C 49 2 62. A 75. C 88. C
11. B 24 A 37. B 50. B 63. B 76. B 89. B
12 A 25. B 38 51. B 64. C 77. A 90. C
3. B 26 B 39. A 52. B 65. A 78. B 91. A
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